ECON 443 Labor Market Analysis 
Assignment #2
Due: 2005/7/5
1. Suppose that the United States adopts a policy requiring employers to offer 600 hours of paid leave for mothers of newly born babies. Assuming wages remain the same, analyze the labor demand effects of mandated paid child-care leave on women of childbearing age and on women past childbearing age.

2. In 2002, a French law went into effect that cut the standard workweek from 39 to 35 hours (workers got paid for 39 hours even though working 35), while at the same time prohibiting overtime hours from being worked.  (Overtime in France is paid at 25% above the normal wage rate.)  (a) Draw the old budget constraint, showing the overtime premium after 39 hours of work.  (b) Draw the new budget constraint.  (c) Analyze which workers in France are better off under the 2002 law.  Are any worse off?  Explain.
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1. Answer: This policy clearly increases the expected cost of employing women of childbearing age by imposing on employers a quasi-fixed cost (equal to 600 hours of normal earnings). This increased cost, with wages remaining equal, will reduce the demand for younger women; the quasi-fixed nature of the cost implies that their employment will fall more than their average hours of work.

For older women, for whom the costs of employment are unaffected, there will be both scale and substitution effects. The former will tend to reduce demand for their services, while the latter will tend to increase it. The overall effects of this policy on the demand for older women cannot be predicted from theory alone (however, the four factors affecting the elasticity of demand for labor can be used to analyze when the substitution effect will be large relative to the scale effect).
2. Answer: In the drawing below, the old (pre-2002) constraint is ABC, where slope of BC is 25% greater (in absolute value) than the slope of AB.  The constraint created by the new law is ADE, where earnings at D are equal to those at B, and the slope of DE is horizontal (workers cannot get paid for more than 35 hours of work).  
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close to B (that is, they worked close to 39 hours before), will also be better off if their original utility-maximizing indifference curve passed below point D.  However, for those whose original utility-maximizing indifference curves passed above point D (almost surely the case for most of those with original tangencies along BC), utility will fall under the new law.
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